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AT |BBILERFEOEREGS (GEts) [ERET—T H408 7H8H 0.22 0.23 0.21
AT |BBLERROLS (LHBHR) [HEH1152 7H8H 0.30 0.30 0.29
AT |srstmsaeys— @an<rsy @mn |BELL T BH9-1 788H 0.22 0.21 0.19
KT |#EEILty5— (Bi8E) (BiH—T B29-9 7H8H 0.15 0.14 0.14
AT |E=End@mi (Evon—+) Esg) | FEHI1-1 786H 0.15 0.14 0.13
KT |[EEsEEttYy— BHEE) [FAM—TH15-15 7H8H 0.21 0.19 0.17
KT Ly aZE (HE5) Ly F27-1 7H6H 0.10 0.11 0.10
KT |RiEFr (BIE13) BHHE_"TH15-1 7H8H 0.13 0.13 0.14
AT |[BFEEZERZOEOOE (FR) |HEy T1-17 7H6H 0.11 0.10 0.11
KT B EEVS— (BiES) [[Bka—TH1-30 7H8H 0.12 0.12 0.11
KT |H@EEIUE (BES) FEXLET7-7 7H8H 0.38 0.39 0.34
AT |ERILBRAACIBIELS (BYIA) |FERME44-4 7H8H 0.13 0.13 0.12
KT |PFEEVY— (BES) AET—TH17-4 7H8H 0.19 0.21 0.21
AT |BHEOHRFHE (BiH1z) [RIRUTE18-6 7H8H 0.49 0.45 0.38
KT |FREE (BEEEI3) HE=THB3-7 7H8H 0.18 0.17 0.17
KT |EERENECERADR) |[EL—THES-3 7H7H 0.38 0.26 0.21
AT |[FRXEEYY— (E@AOF) [BTE1-2 7H8H 0.30 0.27 0.23
AT |csprexzomape@EaAds |Z2HBT3-5 788H 0.44 0.38 0.35
KT |[PREEE (BHESH) ElLl—THE5-25 7H7H 0.13 0.13 0.13
KT |HErEXNEE (BHE) (24 F1-5 7H6H 0.13 0.12 0.12
KT [KEFE (BIE13) EMET1-4 7H8H 0.52 0.41 0.34
KT |[BEE (BiE13) ey F22-16 7H6H 0.12 0.12 0.12
AT % xteoie ca-nup<em @arom |FEEE—T B1-1 788H 0.73 0.58 0.49
A |[wawrsmshssesssn Gy | AMEIFEEEREL114 7H6H 0.25 0.26 0.25
AW |BLOERE (BFES) AHRE] %182 7H6H 0.15 0.14 0.14
=T |=RmEtERRtE Y ¥ — (BEER) |SREN=mTsEm0e-1| 7H6H 0.23 0.22 0.22
EHE  |[EmEuiEey v &R (BER) |[EEITRTERASERL-2] 7H6H 0.16 0.16 0.16
El |ExREtYY— (BER) [@@irsEsrEaEe| 7568 0.28 0.29 0.27
EE TR EREERs R (EEADH) |ERIDIAFTEHF6| 786H 0.14 0.15 0.15
BfA|TEHh > HE0E (BiES) |EnBmATEFEL-2| 7H7H 0.28 0.29 0.26
BME[&SEE (BiH13) BAEINATEFEL 7H7H 0.12 0.13 0.12
EAL|EALTT - -2ty y— GiER) |ERLERAERAFARI-1| 7H7H 0.54 0.41 0.39
EAWLBILTEKABFEY Y — (BiER) |ERALETAREBEFHE12| 7H7H 0.16 0.16 0.16
e (AEHEON (EmADH) #HEE#ERFAEIL2] 7A1H 0.07 0.07 0.06
HiE |[BABUEYY-—FxE (GEg) |BVEEHVELR T HI16| 7H6H 0.12 0.11 0.12
#iE |BLUGEINHVKE (BER) |BUBEIGEFTHE2-2| 7H6H 0.09 0.10 0.11
#iE (BVERREXR (HES) |BVBHTaVEATH26| 7H6H 0.11 0.11 0.10
HiE  |mummers— @uisvozms msm |HGEITHGE_TH148-2| 7H6H 0.13 0.13 0.14
i |mgzvsrc 27—+ (GER) |BGEEE)IFREL-1| 7H6H 0.16 0.17 0.16
HN |ERILE3E (BEES) HAE/MIF /K30 7TH7H 0.15 0.16 0.16
HN |Ettigsity y— (BES) |BNITESwE0n ./ fes-1| 7H7H 0.13 0.13 0.13
AR |Emgsnsmietyy— (BEg) |[ENeEsToIRe-2| 7H7H 0.16 0.15 0.14
i |EEtEREtyy— (BEg) |EREI=IERCErF-2| 7H7H 0.20 0.21 0.21
hl |PEtERSREEY 5 — (BiEg) |tEeTEIREEsie-1|  7H7H 0.10 0.12 0.11




